Shriram K. Nimbhorkar; Rupal C. Shroff Goldie extending elements in modular lattices

Mathematica Bohemica, Vol. 142 (2017), No. 2, 163-180

Persistent URL: http://dml.cz/dmlcz/146750

Terms of use:

© Institute of Mathematics AS CR, 2017

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

GOLDIE EXTENDING ELEMENTS IN MODULAR LATTICES

SHRIRAM K. NIMBHORKAR, Aurangabad, RUPAL C. SHROFF, Pune

Received June 28, 2014. First published December 2, 2016. Communicated by Miroslav Ploščica

Abstract. The concept of a Goldie extending module is generalized to a Goldie extending element in a lattice. An element a of a lattice L with 0 is said to be a Goldie extending element if and only if for every $b \leq a$ there exists a direct summand c of a such that $b \wedge c$ is essential in both b and c. Some properties of such elements are obtained in the context of modular lattices. We give a necessary condition for the direct sum of Goldie extending elements to be Goldie extending. Some characterizations of a decomposition of a Goldie extending element in such a lattice are given. The concepts of an a-injective and an a-ejective element are introduced in a lattice and their properties related to extending elements are discussed.

Keywords: modular lattice; Goldie extending element

MSC 2010: 06B10, 06C05

1. INTRODUCTION

The notion of a ring in which every complement right ideal is a direct summand was introduced by Chatters and Hajarnavis [3]. They called such a ring a CS-ring (complements are summands). This notion has been studied by several researchers in the context of modules under the names an extending module or a module with C_1 -property or a CS-module. These modules and their generalizations have been studied by several authors such as Harmanci and Smith [9], Akalan, Birkenmeier and Tercan [1], Dung et al. [5]. A module M is called *extending* if every submodule of M is a direct summand of M. In [6], Noyan Er studied the ring whose modules are direct sums of extending modules.

Călugăreanu [2] used lattice theory in module theory and studied several concepts from module theory in lattice theory. Keskin [11] obtained some properties of extending modules using modular lattices.

DOI: 10.21136/MB.2016.0049-14

In [10], Kamal and Sayed generalized the concept of an extending module by using the concept of an *I*-jective ideal. In [1], Akalan, Birkenmeier and Tercan defined a Goldie extending module over an associative ring. They defined two relations α and β on modules over associative rings and by using the relation β , formulated the concept of a Goldie extending module. They posed the following open problem.

Open problem. Determine necessary and/or sufficient conditions for a direct sum of Goldie extending modules to be Goldie extending.

In the present paper, we obtain a lattice theoretic analogue of the results of Akalan, Birkenmeier and Tercan [1] and answer this open problem in the context of certain modular lattices. We define a Goldie extending element in a lattice with 0 and obtain some properties of such elements in certain modular lattices by using the concept of ejectivity. The second section deals with preliminaries required in the subsequent sections. In the third section, we define an a-injective element in a lattice and prove some of its properties. In the last section we introduce the concept of a Goldie extending element and an ejective element in a lattice and give a characterization of a Goldie extending element by using the ejectivity of direct summands in certain modular lattices.

2. Preliminaries

The concepts from the lattice theory used in this paper are from Grätzer [7] and Crawley and Dilworth [4].

Throughout this paper L denotes a lattice with the least element 0.

The following remark can be proved by using modularity of L.

Remark 2.1. Let L be a modular lattice and $a, b, c \in L$. If $a \wedge b = 0$ and $(a \vee b) \wedge c = 0$ then $a \wedge (b \vee c) = 0$.

Grzeszczuk and Puczyłowski, [8] developed the concept of Goldie dimension from the module theory, to modular lattices. In this context they defined the concept of an essential element in a lattice with the least element 0, see also Călugăreanu [2].

Definition 2.1 ([2], page 39). An element $a \in L$ is called essential in $b \in L$ (or *b* is an essential extension of *a*), if there is no nonzero $c \leq b$ with $a \wedge c = 0$. We then write $a \leq_e b$. If $a \leq_e b$ and there is no c > b such that $a \leq_e c$, then *b* is called a maximal essential extension of *a*. If $a \in L$ and there is no nonzero $c \in L$ such that $a \wedge c = 0$, then we say that *a* is essential in *L*.

Definition 2.2 ([2], page 39). An element *a* is closed (or essentially closed) in *b*, if *a* has no proper essential extension in *b*. We denote this by $a \leq_{cl} b$. If *a* does not have a proper essential extension in *L*, then we say that *a* is closed in *L*.

The concepts of a semicomplement and a maximal semicomplement are known in lattices with 0, see Szász [13], page 47. Let $a, b \in L$. We say that a, b are semicomplements of each other, if $a \wedge b = 0$.

Definition 2.3. If $a, b \in L$ and b is a maximal element in the set $\{x: x \in L, a \land x = 0\}$, then we say that b is a maximal semicomplement of a. In short we say that b is a max-semicomplement of a in L.

A max-semicomplement is called as a *pseudo-complement* by Călugăreanu [2], page 39, and Keskin [11]. However, in order to distinguish it from the concept of the pseudocomplement of an element in a lattice (a is called a pseudocomplement of b, if a is the largest element with the property $b \wedge a = 0$, see Grätzer [7], page 63), we use the term *max-semicomplement*.

In the lattice L shown in Figure 1, g, h are max-semicomplements of f but f does not have a pseudocomplement in L.



Figure 1.

In the theory of modules, (e.g. Lam [12], Proposition 6.24, page 215, Chatters and Hajarnavis [3], Proposition 2.2, and others), it is known that if A, B, C are modules of a ring R with $A \subseteq B \subseteq C$ and if A is closed in B, B is closed in C, then A is closed in C. The following proposition is an analog of this result for the elements of a modular lattice with 0, the proof of which is due to F. Wehrung.¹

Proposition 2.1. Let *L* be a modular lattice with 0. For $a, b, c \in L$, if $a \leq_{cl} b$ and $b \leq_{cl} c$, then $a \leq_{cl} c$.

Proof. Necessarily, a < b < c. Suppose that $a \notin_{cl} c$. By the definition of \leqslant_{cl} , there exists x with $a < x \leqslant_{cl} c$ and $a \leqslant_e x$. Since $a \leqslant_e x \land b \leqslant b$ and $a \leqslant_{cl} b$, we get

$$(2.1) a = x \wedge b.$$

¹ Friedrich Wehrung: A note on a partial ordering in modular lattices. Unpublished work (June, 2014), private communication. The authors are thankful to Professor Friedrich Wehrung for granting permission to include the proof.

In particular, if $x \leq b$, then a = x, a contradiction; so $x \leq b$, and so $b < b \lor x \leq c$. Since $b \leq_{cl} c$, it follows that $b \leq_{e} b \lor x$, thus there exists u such that $0 < u \leq b \lor x$ and $u \land b = 0$.

In particular, $u \wedge x \leq x$ and $a \wedge u \wedge x \leq b \wedge u = 0$, thus, since $a \leq_e x$, we get

$$(2.2) u \wedge x = 0.$$

Suppose that $a = (u \lor x) \land b$. We compute

$$u = u \land (b \lor x) = u \land (u \lor x) \land (b \lor x) = u \land (((u \lor x) \land b) \lor x)$$
 (by modularity)
= $u \land (a \lor x)$ (by assumption) = 0 (because $a \leqslant x$ and by (2.2));

a contradiction. Hence, $a < (u \lor x) \land b \leq b$. Since $a \leq_{cl} b$, we get $a \leq_{e} (u \lor x) \land b$, thus there exists v such that

(2.3)
$$0 < v \leq (u \lor x) \land b \quad \text{and} \quad a \land v = 0.$$

Then it follows from (2.1) that $x \wedge v = x \wedge b \wedge v = a \wedge v = 0$. Thus, if $u \wedge (x \vee v) = 0$, then the triple (u, v, x) is independent, thus $v \wedge (x \vee u) = 0$, a contradiction since $0 < v \leq x \vee u$. This shows that the element $u' = u \wedge (x \vee v)$ is nonzero. Moreover, it follows from (2.3) together with modularity that

$$x \lor u' = (x \lor u) \land (x \lor v) \ge v,$$

so we may replace u by u' without changing the validity of (2.3). Therefore, we may assume that

(2.4)
$$0 < u \leq x \lor v$$
 and $u \land b = 0$.

One immediate consequence of (2.3) and (2.4) is that $x \lor u = x \lor v$.

From $a \lor v \leq b$ and $u \land b = 0$ it follows that $u \land (a \lor v) = 0$, thus, since $a \land v = 0$ and by modularity, the triple (a, u, v) is independent.

Moreover, since $a \leq x$ and by (2.2) together with modularity,

$$x \wedge (a \lor u) = a \lor (x \wedge u) = a.$$

A similar argument, now using the equality $x \wedge v = 0$, yields $x \wedge (a \vee v) = a$. Set $x_1 = x \wedge (a \vee u \vee v)$.

We claim that the elements $a \vee u$, $a \vee v$, and x_1 are the atoms of an M_3 , with bottom a and top $a \vee u \vee v$. The equality $(a \vee u) \wedge (a \vee v) = a$ follows from the fact that

166

the triple (a, u, v) is independent, while the equalities $x_1 \wedge (a \vee u) = x_1 \wedge (a \vee v) = a$ follow from the corresponding equalities with x_1 replaced by x, established above (note that $a \leq x_1 \leq x$). It is trivial that $x_1 \leq (a \vee u) \vee (a \vee v) = a \vee u \vee v$. Finally, by modularity and since $x \vee u = x \vee v \geq a \vee u \vee v$, we get

$$x_1 \lor (a \lor u) = (x \lor a \lor u) \land (a \lor u \lor v) = a \lor u \lor v.$$

Similarly, $x_1 \lor (a \lor v) = a \lor u \lor v$. This completes the proof of our claim. In particular, from $a \land v = 0$ and v > 0 it follows that $a < a \lor v$, thus $a < x_1$.

Now let $x_0 = x \land (u \lor v)$. Since $a \leqslant x$ and by modularity,

$$x_0 \lor a = x \land (a \lor u \lor v) = x_1,$$

thus $x_0 \lor a > a$, and thus $x_0 > 0$. However, $x_0 \land a = a \land (u \lor v) = 0$ by using the fact that the triple (a, u, v), is independent and $x_0 \leq x$. This contradicts our assumption that $a \leq_e x$.

The following example shows that Proposition 2.1 need not hold in a nonmodular lattice.

Example 2.1. We note that in the lattice L shown in Figure 1, $c \leq_{cl} f$ and $f \leq_{cl} i$. But c is not closed in i, as $c \leq_{e} g \leq i$.

Definition 2.4. If $a, b, c \in L$ are such that $a \lor b = c$ and $a \land b = 0$, then a and b are called direct summands of c and we write $c = a \oplus b$. We say that c is a direct sum of a and b.

Lemma 2.1. In a modular lattice L, if $a, b, c \in L$ are such that $c = a \oplus b$ then a is a max-semicomplement of b in c.

Proof. Let $a, b, c \in L$ be such that $c = a \oplus b$. Let $d \in L$ be such that $a \leq d \leq c$ and $d \wedge b = 0$. Now, by modularity we get

$$d = c \land d = (a \lor b) \land d = a \lor (b \land d) = a.$$

Hence a is a max-semicomplement of b in c.

From this we also conclude that the direct summands of c are closed in c.

However, Lemma 2.1 does not hold if L is a nonmodular lattice. Considering the lattice shown in Figure 1, we note that $i = a \oplus e$, but e is not a max-semicomplement of a in i.

Remark 2.2. Let L be a modular lattice and let $a, b, c \in L$ be such that $a \leq b \leq c$. If a is a direct summand of c then a is also a direct summand of b. For, if $c = a \oplus d$, then by modularity $b = (a \lor d) \land b = a \lor (d \land b) = a \oplus (d \land b)$.

Now, we establish some properties of essential extensions and closed extensions, the proofs of which are similar to the module case.

Lemma 2.2. In a lattice L the following statements hold.

(1) If $a, b, c \in L$, then $a \leq_e b$ implies $a \wedge c \leq_e b \wedge c$.

(2) If $a \leq b \leq c$, then $a \leq_e b$, $b \leq_e c$ if and only if $a \leq_e c$ ([8], Lemma 2).

Lemma 2.3 ([8], Lemma 3). Let *L* be a modular lattice. Suppose that $a, b, c, d \in L$ are such that $a \leq b, c \leq d$ and $b \wedge d = 0$. Then $a \leq_e b, c \leq_e d$ if and only if $a \oplus c \leq_e b \oplus d$.

Lemma 2.4. Let L be a modular lattice and $a, b, c \in L$, $a \leq b \leq c$. If d is a max-semicomplement of a in c then $d \wedge b$ is a max-semicomplement of a in b.

Throughout this paper, wherever necessary, we assume that L satisfies one or more of the following conditions:

Condition (i): For any $a \leq b$ there exists a maximal essential extension of a in b.

Condition (ii): For any $a \leq b$ and for any $c \leq b$ with $c \wedge a = 0$, there exists a max-semicomplement $d \geq c$ of a in b.

Condition (iii): If the socle is involved Soc(a) exists for any $a \in L$.

A familiar and important class of lattices with these properties is that of upper continuous modular lattices, in particular, the lattice of ideals of a modular lattice with 0.

The following lemma is proved for upper continuous modular lattices by Călugăreanu [2], Corollary 4.3, page 42.

Lemma 2.5. Let L be a modular lattice satisfying the Condition (ii). Let $a, b \in L$ and $a \leq b$. Then a is closed in b if and only if a is a max-semicomplement of some $c \leq b$.

Proof. Suppose that a is a max-semicomplement of some $c \leq b$ and $a \leq_e d \leq b$. Then $a \wedge c \wedge d = 0$ implies that $c \wedge d = 0$. Since a is a max-semicomplement of c, this implies that a = d. Thus a is closed in b.

Conversely, suppose that a is closed in b. Then there exists $c \leq b$ such that $a \wedge c = 0$. Since L satisfies the Condition (ii), there exists a max-semicomplement $d \geq c$ of a in b. Let f be such that $a \leq f \leq b$ and $f \wedge d = 0$. Let $g \leq f$ be such that

 $a \wedge g = 0$. Clearly, $(a \vee g) \wedge d = 0$. Hence by Remark 2.1, $a \wedge (g \vee d) = 0$. Since d is a max-semicomplement of a, this implies that $g \vee d = d$. Since $g \leq f$ and $f \wedge d = 0$, we conclude that g = 0. Thus $a \leq_e f \leq b$. This implies that a = f. Thus a is a max-semicomplement of d in b.

The following example shows that Lemma 2.5 does not hold for a general modular lattice.

Example 2.2. Let $L = \{A \subseteq \mathbb{N} : A \text{ is finite}\} \cup \{\mathbb{N}\}$. Then L is a modular lattice. Any nonempty $A \in L$ is closed in \mathbb{N} but A does not have a max-semicomplement in \mathbb{N} .

The following proposition is from Călugăreanu [2], Proposition 4.4, page 43.

Proposition 2.2. Let *L* be a modular lattice satisfying the Condition (ii) and let $a, b \in L$ be such that $a \wedge b = 0$. Then *a* is a max-semicomplement of *b* in *L* if and only if *a* is closed in *L* and $a \vee b$ is essential in *L*.

3. J-injective elements

The following properties are well known in the module theory, see Akalan et al. [1].

- (1) C_3 property: If M_1 , M_2 are direct summands of a module M, such that $M_1 \cap M_2 = \{0\}$, then $M_1 \oplus M_2$ is a direct summand of M.
- (2) The summand intersection property: If M_1 , M_2 are direct summands of a module M, then $M_1 \cap M_2$ is a direct summand of M.

We introduce these concepts in a lattice L. We denote the set of all direct summands of an element $a \in L$ by $\mathfrak{D}(a)$. That is, for every $b \in \mathfrak{D}(a)$ there exists $c \in \mathfrak{D}(a)$ such that $a = b \oplus c$.

Definition 3.1. Let $a \in L$. If for any two direct summands b, c of $a, b \lor c$ is a direct summand of a, then we say that a satisfies the summand sum property.

E x a m p l e 3.1. Consider the lattice shown in Figure 2. We note that a and b are direct summands of i and $a \lor b = f$ is also a direct summand of i. Similarly, we can check for other direct summands of i. Hence i satisfies the summand sum property.

Proposition 3.1. Let L be a modular lattice. If $a \in L$ satisfies the summand sum property, then every direct summand of a satisfies the summand sum property.

Proof. Let $b \in \mathfrak{D}(a)$ and $c, d \in \mathfrak{D}(b)$. Since b is a direct summand of a, by Remark 2.2, c and d are also direct summands of a. As a satisfies the summand sum property, $c \lor d$ is a direct summand of a. Hence by Remark 2.2, $c \lor d$ is a direct summand of b. **Definition 3.2.** Let $a \in L$ and $b, c \in \mathfrak{D}(a)$. If $b \wedge c \in \mathfrak{D}(a)$ whenever $b \wedge c \neq 0$, then we say that a satisfies the summand intersection property.



Example 3.2. Consider the lattice shown in Figure 3. We note that d and f are direct summands of g. Also, $d \wedge f = b$ is a direct summand of i. Similarly, we can check for other direct summands of i. Hence i satisfies the summand intersection property.

Example 3.3. Consider the elements i, f, h in the lattice shown in Figure 2. Then f and h are direct summands of i. But $f \wedge h = c$ is not a direct summand of i. Hence i does not satisfy the summand intersection property.

Proposition 3.2. Let *L* be a modular lattice. If $a \in L$ satisfies the summand intersection property, then every direct summand of *a* satisfies the summand intersection property.

Proof. Let $a, b \in L$ and $b \in \mathfrak{D}(a)$. Let $c, d \in \mathfrak{D}(b)$ be such that $c \wedge d \neq 0$. Since b is a direct summand of a, by Remark 2.2, c and d are also direct summands of a. As a satisfies the summand intersection property, $c \wedge d$ is a direct summand of a. Then $c \wedge d$ is a direct summand of b.

Harmanci and Smith [9], Lemma 5, have proved the following lemma.

Lemma 3.1. Let a module $M = M_1 \oplus M_2$ be the direct sum of submodules M_1, M_2 . Then the following statements are equivalent.

- (1) M_2 is M_1 -injective.
- (2) For each submodule N of M with $N \cap M_2 = 0$, there exists a submodule M' of M such that $M = M' \oplus M_2$ and $N \subseteq M'$.

We use this characterization to define a lattice formulation of the concept of c being b injective in $a = b \oplus c$.

Definition 3.3. Let $a, b, c \in L$ be such that $a = b \oplus c$. Then c is said to be b-injective in a if for every $d \leq a$ with $d \wedge c = 0$, there exists $e \leq a$ such that $a = e \oplus c$ and $d \leq e$.

If c is b-injective and b is c-injective in a, then we say that b and c are relatively injective.

Example 3.4. In the lattice shown in Figure 2, $i = a \oplus e$. For $b \leq i$ we have $b \leq f$ and $i = f \oplus e$. Similarly, we can verify that for every $x \leq i$ there exists $y \leq i$ such that $x \leq y$ and $i = y \oplus e$. Thus e is a-injective.

Lemma 3.2. Let *L* be a modular lattice and $a, b, c \in L$. Let $a = b \oplus c$. If *c* is *b*-injective, then *c* is *d*-injective in $d \oplus c$ for any $d \leq b$.

Proof. Let $d \leq b$. To show c is d-injective in $d \oplus c$, let $f \leq d \lor c$ be such that $f \land c = 0$. Since c is b-injective in a, there exists $g \leq a$ such that $a = g \oplus c$ and $f \leq g$. Put $h = g \land (d \lor c)$. Then $c \lor h = c \lor (g \land (d \lor c)) = (c \lor g) \land (d \lor c) = (b \lor c) \land (d \lor c) = d \lor c$. Thus c is d-injective in $d \oplus c$.

Now we define an analogue of the concept of an extending (or CS) module in the context of lattices.

Definition 3.4. An element *a* of a lattice *L* is called extending if every nonzero $b \leq a$ is essential in a direct summand of *a*.

Example 3.5. In the lattice shown in Figure 3, consider the element g. Every nonzero $x \leq g$ is a direct summand of g. Hence g is extending.

Consider the element *i* in the lattice *L* shown in Figure 4. We note that $b \leq i$ but *b* is neither a direct summand of *i* nor is it essential in a direct summand of *i*. Hence *i* is not extending.



Figure 4.

We note that in a modular lattice L satisfying the Condition (i) stated in Section 2, every nonzero $a \leq b$ has a maximal essential extension in b and the maximal essential extension is closed. Hence a nonzero $a \in L$ is extending if every $b \leq a$ which is closed in a is a direct summand of a.

Let L be a modular lattice satisfying the Conditions (i) and (ii) and $a \leq b$. By Lemma 2.5, a is closed in b if and only if a is a max-semicomplement in b. Hence b is extending if every max-semicomplement in b is a direct summand of b.

The following result is an analogue of Corollary 2 from Harmanci and Smith [9] in the context of lattices.

Lemma 3.3. Let L be a modular lattice satisfying the Conditions (i) and (ii). Suppose that $a \in L$ is extending. Then every direct summand of a is extending.

The following result, from Keskin [11], Proposition 3.2, is a lattice theoretic analogue of Lemma 7.9, page 59, from Dung et al. [5].

Lemma 3.4. Let *L* be a modular lattice satisfying the Conditions (i) and (ii). Let $a, b, c \in L$ be such that $a = b \oplus c$ and let *b* and *c* be extending. Then *a* is extending if and only if every closed element $d \leq a$ with either $d \wedge b = 0$ or $d \wedge c = 0$ is a direct summand of *a*.

Lemma 3.5. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) and $a \in L$. Suppose that any two direct summands of *a* whose join is *a* are relatively injective. If $a = a_1 \oplus a_2$, then *a* is extending if and only if a_1 , a_2 are extending.

Proof. If a is extending, then by Lemma 3.3, a_1 , a_2 are extending.

To prove the converse, let $c \leq_{cl} a$. Suppose that $c \wedge a_1 = 0$. Since a_1, a_2 are relatively injective, there is $d \geq c$ such that $d \oplus a_1 = a$. Thus by modularity, the interval sublattices [0, d] and $[0, a_2]$ are isomorphic and it follows that d is extending as a_2 is extending. Therefore, $c \leq_e x$ for some $x \in \mathfrak{D}(d) \subseteq \mathfrak{D}(a)$. As c is closed, we get c = x.

The case $c \wedge a_2 = 0$ follows by symmetry. Hence by Lemma 3.4, *a* is extending.

Lemma 3.6. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) and let $a, b, c \in L$ be such that $a = b \oplus c$. Suppose that *a* is extending and satisfies the summand sum property. Then *b* and *c* are relatively injective.

Proof. Let $a = b \oplus c$ and let d be a max-semicomplement of b in a. By Proposition 2.2, $d \oplus b \leq_e a$ and d is closed in a. Now, since a is extending, d is a direct summand of a. Thus we have obtained two direct summands b and d of a such that $b \wedge d = 0$. By the summand sum property, $b \oplus d$ is a direct summand of a. But then $d \oplus b \leq_e a$ implies $a = d \oplus b$. Hence b is c-injective.

Similarly, we can show that c is b-injective.

4. Goldie extending elements

In this section, as a generalization of an extending element, we define a Goldie extending element in a lattice. We also define an a-ejective element in a lattice and discuss some of its properties.

Akalan et al. [1] defined two relations α and β on the set of submodules of a module M and also the concept of a Goldie extending module. We define these relations and the concept of a Goldie extending element in a lattice.

Definition 4.1. Let $a, b \in L$. Then

- (1) $a \alpha b$ if and only if there exists $c \in L$ such that $a \leq_e c$ and $b \leq_e c$,
- (2) $a \beta b$ if and only if $a \wedge b \leq_e a$ and $a \wedge b \leq_e b$.

E x a m p l e 4.1. In the lattice shown in Figure 4, consider the elements g, h and i. We note that $g \leq_e i$ and $h \leq_e i$. Hence $g \alpha h$ holds. Also, the elements g and h satisfy $g \wedge h \leq_e g$ and $g \wedge h \leq_e h$. Hence $g \beta h$ holds.

Remark 4.1. $a \alpha b$ implies $a \beta b$. But the converse need not hold.

Proof. Let $c \in L$ be such that $a \leq_e c$ and $b \leq_e c$. By Lemma 2.2, it follows that $a \wedge b \leq_e a$ and $a \wedge b \leq_e b$. Thus $a \alpha b$ implies $a \beta b$.

For the converse, consider the elements d, f in the lattice shown in Figure 5. Then $d \wedge f = b \leq_e d$ and $d \wedge f = b \leq_e f$. Thus $d \beta f$ holds. But there is no x such that $x \geq_e d$ and $x \geq_e f$. Hence $d \alpha f$ does not hold.



Figure 5.

Remark 4.2. $a \beta b$ is an equivalence relation on L.

We give a characterization of an extending element.

Proposition 4.1. Let *L* be a modular lattice satisfying the Conditions (i) and (ii). An element $a \in L$ is extending if and only if for every $b \leq a$ there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \alpha c$.

Proof. Let a be an extending element in L. Let $b \leq a$. Since a is extending, there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \leq_e c$. Now using $c \leq_e c$ we get $b \alpha c$.

Conversely, suppose that for every $b \leq a$ there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \alpha c$. Then there exists $d \in L$ such that $b \leq_e d$ and $c \leq_e d$. It follows that $b \leq_e a \wedge d$ and $c \leq_e a \wedge d$. Being a direct summand, c is closed in a. Hence $c = a \wedge d$ and $b \leq_e c$. Thus, a is extending.

By using the condition β we give the definition of a Goldie extending element in a lattice L with 0. We also give some of its characterizations.

Definition 4.2. Let $a \in L$. If for every $b \leq a$ there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \beta c$ then a is said to be a Goldie extending element. In short, we say that a is a G-extending element.

We note that whenever $b \leq_e a$, then a is the only direct summand of a such that $b \beta a$. In a modular lattice L, we can equivalently define a G-extending element as follows.

An element $a \in L$ is called a *Goldie extending element*, if for every closed element $b \leq a$ there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \beta c$ holds.

Example 4.2. In the lattice shown in Figure 5, the element g is G-extending. Here the direct summands of g are a, d, e and f. Also $a \beta a$, $b \beta d$, $c \beta f$, $d \beta f$ $e \beta d$ hold.

In the following result we give a necessary and sufficient condition for an element to be Goldie extending.

Lemma 4.1. Let $a \in L$. Then the following statements are equivalent.

(1) a is a G-extending element.

(2) For every $b \leq a$ there exists $c \leq a$ and $d \in \mathfrak{D}(a)$ such that $c \leq_e b$ and $c \leq_e d$.

Proof. (1) \Rightarrow (2): Let *a* be G-extending. Then for every $b \leq a$ there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \beta c$. Then $b \wedge c \leq_e b$ and $b \wedge c \leq_e c$. Putting $d = b \wedge c$, it follows that $d \leq_e b$ and $d \leq_e c$. $(2) \Rightarrow (1)$: Let $a, b \in L$ be such that $b \leq a$. Then by (2) there exist $c \leq a$ and a direct summand d of a such that $c \leq_e b$ and $c \leq_e d$.

Put $f = b \wedge d$. Let $g \leq b$ be such that $f \wedge g = 0$. This implies $0 = b \wedge d \wedge g = d \wedge g$ and so $c \wedge g = 0$. Now $c \leq_e b$ implies g = 0. Thus $b \wedge d \leq_e b$. Similarly, $b \wedge d \leq_e d$ Thus, $b \beta d$ holds and a is G-extending.

The concept of the socle of a module is well known. It was generalized for lattices, see Călugăreanu [2], page 47.

Definition 4.3. For $x \in L$, we denote the *socle* of x by Soc(x) and define it as

 $\operatorname{Soc}(x) = \bigvee \{a \colon a \leq x \text{ where } a \text{ is an atom in } L\}.$

If $a \leq b$, then it is clear that $Soc(a) \leq Soc(b)$.

Example 4.3. In the lattice shown in Figure 4, for $g \in L$, Soc(g) = e and for the element e, Soc(e) = e.

Lemma 4.2. Let $x, y \in L$. Suppose that for any $x \in L$, Soc(x) exists, then $x \leq_e y$ implies Soc(x) = Soc(y).

Proof. Let $x \leq_e y$. It is clear that $\operatorname{Soc}(x) \leq \operatorname{Soc}(y)$. Since $x \leq_e y$, for no atom $a \leq y, x \wedge a = 0$ holds. Hence each atom $a \leq y$ satisfies $a \leq x$. Thus $\operatorname{Soc}(y) \leq \operatorname{Soc}(x)$.

We define a weak extending element in a lattice L with 0 and give its relationship with a G-extending element.

Definition 4.4. An element a of a lattice L with 0 is called weak extending, if for every $b \leq a$, Soc $(b) \leq_e d$ for some $d \in \mathfrak{D}(a)$.

Definition 4.5. An element a of a lattice L is said to satisfy the condition

(*) if for every $b \leq a$ there exists a decomposition $a = a_1 \oplus a_2$ of a such that $b \wedge a_2 = 0$ and $b \oplus a_2 \leq_e a$.

Example 4.4. Consider the element *i* in the lattice shown in Figure 4. Then $a \leq i$ and *b* and *f* are max-semicomplements of *a*. Also, $a \lor b = e \leq_e i$ and $a \lor f = h \leq_e i$. Similarly, we can check for all $x \leq i$. Hence *i* satisfies the condition (*).

Also, we note that the element b is neither a direct summand of i, nor is it essential in a direct summand of i. This shows that an element satisfying the condition (*), need not be extending.

Now, consider the elements g and c in the lattice shown in Figure 6. We note that $c \leq g$ and there exists no direct summand k of g such that $c \vee k \leq_e g$. Hence g does not satisfy the condition (*).



It is clear that if a is extending then a satisfies the condition (*).

Proposition 4.2. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) in which Soc(x) exists for every $x \in L$. Consider the following statements for $a \in L$.

- (1) a is extending.
- (2) a is G-extending.
- (3) a satisfies the condition (*).
- (4) a is weak extending.

Then $(1) \Rightarrow (2) \Rightarrow (3)$ and $(2) \Rightarrow (4)$.

Proof. (1) \Rightarrow (2): Let *a* be extending and $b \leq a$. By Proposition 4.1 there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \alpha c$ and so by Remark 4.1, $b \beta c$. Hence *a* is G-extending.

(2) \Rightarrow (3): Let $b \leq a$. Then by (2) there exists a direct summand $c \in \mathfrak{D}(a)$ such that $b \beta c$. Then $b \wedge c \leq_e b$, $b \wedge c \leq_e c$. Let $a = c \oplus d$ for some $d \in \mathfrak{D}(a)$.

By Lemma 2.3, $(b \wedge c) \oplus d \leq_e c \oplus d = a$. Hence by (2) of Lemma 2.2, $b \oplus d \leq_e a$. Since *L* is modular, the direct summand *d* of *a* is closed in *a*. It follows from Proposition 2.2 that the direct summand *d* is a max-semicomplement of *b* in *a*. Thus, *a* satisfies the condition (*).

(2) \Rightarrow (4): Let *a* be G-extending. Let $b \leq a$. Clearly, Soc(*b*) $\leq a$. By (2), there exists $c \in \mathfrak{D}(a)$ such that Soc(*b*) βc . That is, Soc(*b*) $\wedge c \leq_e c$ and Soc(*b*) $\wedge c \leq_e$ Soc(*b*). Let *x* be an atom such that $x \leq b$. Then $x \leq$ Soc(*b*). As Soc(*b*) $\wedge c \leq_e$ Soc(*b*), we have $x \wedge ($ Soc(*b*) $\wedge c) \neq 0$. Thus $x \leq$ Soc(*b*) $\wedge c$. This implies Soc(*b*) \leq Soc(*b*) $\wedge c$. Thus Soc(*b*) $\wedge c =$ Soc(*b*). Hence Soc(*b*) $\leq_e c$. Thus, *a* is weak extending.

Now, we give a characterization of a G-extending element.

Theorem 4.1. Let L be a modular lattice satisfying the Conditions (i) and (ii) and $a \in L$.

- (1) Suppose that every $b \leq a$ has a unique maximal essential extension in a. Then a is G-extending if and only if a is extending.
- (2) If $Soc(a) \leq_e a$, then a is G-extending. If L is atomic and if a is weak extending, then a is G-extending.

Proof. (1) Let a be G-extending. Let $c \in L$ be such that c is closed in a. By Lemma 4.1, there exist a $d \leq a$ and a direct summand $f \in \mathfrak{D}(a)$ such that $d \leq_e f$ and $d \leq_e c$. Since the direct summand f is closed in a and c is also closed in a, the elements c and f are two maximal essential extensions of b in a. By (1), c = f. Hence every closed element $x \leq a$ is a direct summand of a. Thus a is extending.

The converse follows from Proposition 4.2.

(2) Let $Soc(a) \leq_e a$. The if part follows from Proposition 4.2.

Conversely, let a be weak extending. Let $b \leq a$. Then $Soc(b) \leq_e c$ for some $c \in \mathfrak{D}(a)$.

Let $t \leq b$ be nonzero. Since *L* is atomic, there exists an atom $x \leq t$. Then $\operatorname{Soc}(b) \wedge x = x$ implies $\operatorname{Soc}(b) \wedge t \neq 0$. Hence $\operatorname{Soc}(b) \leq_e b$. Thus by Lemma 4.1, *a* is G-extending.

The notion of a module N being M-injective is generalized to M-ejective by Akalan et al. [1], Definition 2.1. The concept of ejectivity is a generalization of injectivity. We use the characterization of ejectivity given in Theorem 2.7 from Akalan et al. [1] to define an a-ejective element in a lattice L. We also prove a relation between an extending element and a G-extending element by using ejectivity of direct summands.

Definition 4.6. Let $a, b, c \in L$ be such that $a = b \oplus c$. Then b is said to be c-ejective in a, if for every $d \leq a$ such that $d \wedge b = 0$ there exists an $f \leq a$ such that $a = b \oplus f$ and $d \wedge f \leq_e d$.

If b is c-ejective and c is b-ejective then we say that b and c are relatively ejective.

Example 4.5. In the lattice shown in Figure 5, $g = a \oplus e$. Also, for $b \leq g$, $b \wedge a = 0$ there exists $f \leq g$ such that $g = a \oplus f$ and $b \wedge f \leq_e b$. Similarly, we can show that for all $x \leq g$ satisfying $x \wedge a = 0$ there exists $y \leq g$ such that $g = a \oplus y$ and $x \wedge y \leq_e x$. Hence a is e-ejective.

Lemma 4.3. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) and let $a, b, c \in L$ be such that $a = b \oplus c$. If *b* is *c*-injective then *b* is *c*-ejective. Also, the converse holds if every $d \leq a$ is closed in *a*.

Proof. Let $a = b \oplus c$ and let b be c-injective. Let $d \leq a$ be such that $d \wedge b = 0$. Since b in c-injective, there exists $f \leq a$ such that $a = b \oplus f$ and $d \leq f$. Clearly $d \wedge f = d \leq_e d$. Hence b is c-ejective.

For the converse, let b be c-ejective and let every $x \leq a$ be closed in a. Let $d \leq a$ be such that $d \wedge b = 0$. Since b in c-ejective, there exists an $f \in L$ such that $a = b \oplus f$ and $d \wedge f \leq_e d$. As every $x \leq a$ is closed in a, $d \wedge f = d$, that is $d \leq f$. Hence b is c-injective.

Proposition 4.3. Let L be a modular lattice satisfying the Conditions (i) and (ii) and let $a \in L$ be such that a is G-extending. If a has the summand intersection property, then every direct summand of a is G-extending.

Proof. Let $b \in \mathfrak{D}(a)$ be a direct summand of a and let $c \leq b$. Since a is G-extending, by Lemma 4.1 there exist a $d \leq a$ and a direct summand $f \in \mathfrak{D}(a)$ such that $d \leq_e c$ and $d \leq_e f$. By Lemma 2.2, $d \wedge b \leq_e c \wedge b$ and $d \wedge b \leq_e f \wedge b$. That is, $d \wedge b \leq_e c$ and $d \wedge b \leq_e f \wedge b$. Since a has the summand intersection property, $f \wedge b$ is a direct summand of a. As $f \wedge b \leq b$ we conclude that $f \wedge b$ is a direct summand of b. Hence $c \beta (f \wedge b)$ where $(f \wedge b) \in \mathfrak{D}(b)$. Thus, b is G-extending.

Now we formulate and answer the open problem posed by Akalan, Birkenmeier and Tercan [1], mentioned in the introduction in the context of certain modular lattice.

Open problem. Give necessary and/or sufficient condition for the direct sum of G-extending elements in a modular lattice with 0, to be G-extending.

In the following we give a sufficient condition for the direct sum of G-extending elements to be G-extending.

Theorem 4.2. Let *L* be a modular lattice satisfying the Conditions (i) and (ii). Suppose that $a, b, c \in L$ are such that $a = b \oplus c$. Also suppose that *b* and every *x* such that $x \oplus b = a$ are G-extending. If *b* is *c*-ejective then *a* is G-extending.

Proof. Let b be c-ejective. Let $d \leq a$.

If $d \wedge b = 0$ then there exists $f \in L$ such that $a = b \oplus f$ and $d \wedge f \leq_e d$. Since f is G-extending, there exist $g \leq f$ and a direct summand $h \in \mathfrak{D}(f)$ such that $g \leq_e d \wedge f$ and $g \leq_e h$. As $f \in \mathfrak{D}(a)$, it follows that $h \in \mathfrak{D}(a)$. Then $g \leq_e d \wedge f \leq_e d$ and $g \leq_e h$ imply that $d \beta h$.

If $d \wedge b \neq 0$, then $d \wedge b$ has a max-semicomplement $i \leq d$ such that $(d \wedge f) \oplus i \leq_e d$. Now, $(d \wedge f) \wedge i = 0$ implies $f \wedge i = 0$ and since b is c-ejective, there exists $j \in L$ such that $a = b \oplus j$ and $i \wedge j \leq_e i$. Again, j is G-extending and $i \wedge j \leq_j j$ imply that there exist $k \in L$ such that $k \leq_j i$ and a direct summand $l \in \mathfrak{D}(j)$ such that $k \leq_e i \wedge j$ and $k \leq_e l$. Also, as b is G-extending and $d \wedge b \leq b$ there exist $m \in L$ such that $m \leq b$ and a direct summand $n \in \mathfrak{D}(b)$ such that $m \leq_e d \wedge b$ and $m \leq_e n$.

Now, $k \leq_e i \wedge j$, $m \leq_e d \wedge b$ and $(i \wedge j) \wedge (d \wedge b) = 0$ imply that

$$k \oplus m \leqslant_e (i \land j) \oplus (d \land b)$$

Using $i \wedge j \leq_e i$ we get $k \oplus m \leq_e i \oplus (d \wedge b)$. That is, $k \oplus m \leq_e d$.

Also, $k \oplus m \leq_e l \oplus n$. Since l is a direct summand of j, n is a direct summand of band $a = b \oplus j$, we have that $l \oplus n$ is a direct summand of a. Hence $k \oplus m \leq_e d$ and $k \oplus m \leq_e p = l \oplus n$. Thus $d \beta p$ holds. It follows that a is G-extending.

Lemma 4.4. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) and $a \in L$. Suppose that every $b \leq a$ has a unique maximal essential extension in *a*. If *a* is G-extending then *a* has the summand intersection property.

Proof. Let $x, y \in \mathfrak{D}(a)$ be such that $x \wedge y \neq 0$. Let p and q be maximal essential extensions of $x \wedge y$ in x and y, respectively. But, our assumption implies that p = q. Thus $x \wedge y \leq_e p \leq x$ and $x \wedge y \leq_e p \leq y$. This implies $x \wedge y = p$. Thus $x \wedge y$ is closed in x. As x, being a direct summand of a, is closed in a, by Proposition 2.1 we conclude that $x \wedge y$ is closed in a. Now, by Theorem 4.1 (1), a is extending, hence $x \wedge y$ a direct summand of a. Thus a has the summand intersection property. \Box

Lemma 4.5. Let *L* be a modular lattice satisfying the Conditions (i) and (ii) and let $a, b, c \in L$ be such that $a = b \oplus c$ and $Soc(a) \leq_e c$. Suppose that *a* has the summand intersection property and *a* is weak extending. Then every direct summand of *c* is G-extending.

Proof. It is clear that c has the summand intersection property. So, $\operatorname{Soc}(a) \leq_e c$ implies $\operatorname{Soc}(a) \wedge c \leq_e c$, that is $\operatorname{Soc}(c) \leq_e c$.

Now, we show that c is weak extending. Let $d \leq c$. Since a is weak extending, there exists $f \in \mathfrak{D}(a)$ such that $\operatorname{Soc}(d) \leq_e f$.

It follows that $\operatorname{Soc}(d) \wedge c \leq_e f \wedge c$, that is $\operatorname{Soc}(d) \leq_e f \wedge c$. By the summand intersection property, $f \wedge c$ is a direct summand of a. Then $f \wedge c \leq c$ implies $f \wedge c$ is a direct summand of c. Hence c is weak extending. By (2) of Theorem 4.1, c is G-extending.

Now, c is G-extending and satisfies the summand intersection property. Hence by Proposition 4.3 every direct summand of c is G-extending.

A cknowledgement. The authors are thankful to Professor Friendrich Wehrung for sending a copy of his unpublished work, which helped to prove the results in a more general setting. The authors sincerely thank the referee for his/her fruitful comments, which improved the presentation and helped to prove the results for a larger class of modular lattices.

References

- E. Akalan, G. F. Birkenmeier, A. Tercan: Corrigendum to: Goldie extending modules. Commun. Algebra 41 (2013), page 2005. Original article ibid. 37 (2009), 663–683 and first correction in 38 (2010), 4747–4748.
- [2] G. Călugăreanu: Lattice Concepts of Module Theory. Kluwer Texts in the Mathematical Sciences 22. Kluwer Academic Publishers, Dordrecht, 2000.
- [3] A. W. Chatters, C. R. Hajarnavis: Rings in which every complement right ideal is a direct summand. Q. J. Math., Oxf. (2) 28 (1977), 61–80.
- [4] P. Crawley, R. P. Dilworth: Algebraic Theory of Lattices. Prentice-Hall, Englewood Cliffs, New Jersey, 1973.
- [5] N. V. Dung, D. V. Huynh, P. F. Smith, R. Wisbauer: Extending Modules. Pitman Research Notes in Mathematics Series 313. Longman Scientific & Technical, Harlow, 1994.
- [6] N. Er: Rings whose modules are direct sums of extending modules. Proc. Am. Math. Soc. 137 (2009), 2265–2271.
- [7] G. Grätzer: General Lattice Theory. Birkhäuser, Basel, 1998.
- [8] P. Grzeszczuk, E. R. Puczyłowski: On Goldie and dual Goldie dimensions. J. Pure Appl. Algebra 31 (1984), 47–54.
- [9] A. Harmanci, P. F. Smith: Finite direct sums of CS-modules. Houston J. Math. 19 (1993), 523–532.
- [10] M. A. Kamal, A. Sayed: On generalized extending modules. Acta Math. Univ. Comen., New Ser. 76 (2007), 193–200.
- [11] D. Keskin: An approach to extending and lifting modules by modular lattices. Indian J. Pure Appl. Math. 33 (2002), 81–86.
- [12] T. Y. Lam: Lectures on Modules and Rings. Graduate Texts in Mathematics 189. Springer, New York, 1999.
- [13] G. Szász: Introduction to Lattice Theory. Academic Press, New York; Akadémiai Kiadó, Budapest, 1963.

Authors' addresses: Shriram Khanderao Nimbhorkar, Department of Mathematics, Dr. Babasaheb Ambedkar Marathwada University, Aurangabad 431004, Maharashtra, India, e-mail: sknimbhorkar@gmail.com; Rupal Chandulal Shroff, Department of Core Engineering and Engineering Sciences, MIT College of Engineering, MIT College Road, Pune 411038, Maharashtra, India, e-mail: rupal_shroff84@yahoo.co.in.